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MODEL QUESTIONS FOR PRACTICE

. The cost of fencmg a square flower garden of side 50 m at the rate of Rs.10 per meter is
@ 50 U USS DI6TEGTET e &SI augalleomerr Gam L Sdlm@E Geuedl gemu&s L (@ e
10 etetTm SyeTelnG eTeleusTe| QFeveuTdimg.

(a) Rs. 2000 (b) Rs. 200 (c) Rs. 400 (d) Rs. 800
10 cm

. The area of shaded portion is

Hlpedl L Lgdlullesr Limiiy =
(a) 1040 cm? (b) 480 cm? =
(c) 490cm? (d) 750 cm? aE

40 cm
Ramesh wants to cover the floor of a room 5m long and width 4 m by a square tile.If the

area of each square tiles is 0.5 m?, then the number of tiles required to cover the floor of
the r oom is

@rGuwsa gearayem 5 wnmib 4 f gemeCEmemiL emmullst sersdlenar 0.5 .15 gjeTey
QarewiL GQuremes snamer Qamsmi®h Elyiydlom erefled CHemeulin L Quremasedsaflsr
6T6UBT6U0T 615

(@) 35 (b) 40 (c) 50 (d) 70

For the given measurement which of the following is true?

A right triangle with length of the sides containing right angles being 80cm and 60 cm and a
square of length 50 cm

(a) area of triangle = area of square (b) area of triangle > area of square

(c) area of triangle < area of square (d) none of these

Qar@ssiu’L gmaiD&sEnsE , Shasaamnier flwurers) g ?

80 Q&Lf mmih 60 C&L LssgaTe] CsTamL 6@ CemGasrem WeGsmsmrd , 50 Cl&
US896m6| CSsmemTL &gy

(A) w&CaTamgdler LTiy= ggirsdleT Ly (B) w&Caramgdler Lpliy> girsdler Lyl
(C) w&Gameumgdler Lriy< sgirsdlar uriy (D) CunsemiL srgia|llsmen

. Which of the following is not a quadrilateral

SLPS6mTLUNMIT 678 HTMESTLOEV6 ?

7<) e X

. Which of the following is not true for a parallelogram?

(a) the opposite sides are equal and parallel  (b) the opposite angles are equal

(c) the diagonals are equal (d) the diagonals bisect each other
Qe arSmal QUTNISSHLL g6 SPSETLaNMIT FFlunm S my) 6g)?

(a) erdliussmiser Fwib wnmIb @emenr  (b) adljEasTammisar Lo

(d) epemevedll L Eig6T &Lod (d) (_Lpsmm)aﬁll;l_rﬂjaaﬂ'r 6p6uTemmGLLITENT M) FL0& S MI(HILD

. The height of the parallelogram whose area is 300 cm? and base 15 cm is

(@) 10 cm (b) 15cm (c) 20 cm (d) 30 cm
Spliu&ah 15 Qe whmis Lty 3000882 QamamL @lameursygdler 2 wirh

(@) 10 cm (b) 15 cm (c) 20 cm (d) 30 cm

. The product of the diagonals of a rhombus whose side is 15 cm and the altitude is 10 cm is
(a) 150 cm? (b) 300 cm? (c)450cm? (d) 900 cm?
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14.

15.

16.

17.

u&s glare| 15 G&l LHmd 2 wrd 10 Q& Qe smisgrsdlear epameaail L kisaflsr
GL(m & & 60L16060T

(a) 150 cm? (b) 300 cm? (c)450cm? (d) 900 cm?
The height of the trapezium whose sum of parallel sides is 20 cm and the area 80 cm? is
(a2 cm (b) 4 cm (c)6cm (d) 8 cm

80 GaLf? Lpliy, @\ Gmearusanisafar Bermiseflar g OGm 20 Q& CsratiL Fflousgdlat
2 WD

(& 2cm (b) 4 cm (c)6cm (d)8cm
The ratio of circumference to the diameter of a circle is

@22:7 (b)7:22 (c)11:22 (d)8:11
oI L SdleT smmerelln@Gl g6 el LSHln@ 2 srer aldlsn

@22:7 (b) 7:22 (c)11:22 (d)y8:11

A scooter which makes 50 revolution to cover a distance of 8800 cm, then the radius of the
wheel is

(a) 24 cm (b) 48 cm (c) 28 cm (d) 12 cm

Q@ s LT ssharumarg 50 usnnsEns@ 8800 Qe CsTameaeailmer sL&&Elng) eeutls
s&HETSIT IYTLD

(a) 24 cm (b) 48 cm (c) 28 cm (d) 12cm
Number of days from independence day of 2012 to 27" October 2012 is
(@) 75 (b) 74 (c) 73 (d) 72

2012 gylb gy emnge &SHSIT SarsSnEn 2012 Y&CLTUT 27H658)8@E0m @i
B &afle eTeutTevolld:ema

(@ 75 (b) 74 (c) 73 (d) 72
298 days equal to
(a) ¥a th of year (b) 42 weeks and 4 days (c) ¥ of year (d) none of these
298 BT &(Th& (S &LOLmeITS)
()b JyemTigetr ¥a LIS (b) 42 eumpid WM 4 GBI S6T
(C) B(H Mg ¥s LIBIS (d) Guman il eTga|Lblsbemen
I 3cm
The perimeter of the given figure is
SriuL ugagdler smHmeTey Scm
(a) 46 cm (b) 36 cm (c) 38 cm (d) 40 cm < Ji Scm
dcm
Which of the following is not a leap year?
(a) 1400 (b) 2006 (c) 2008 (d) 1996 10cas
SLSEUTL euMMIeT 6751 6511 o 6m0T(H)?
(a) 1400 (b) 2006 (c) 2008 (d) 1996

The height and area of the trapezium are 12 cm and 102 sq.cm.If one of its parallel side is
8cm, then the length of the other side is

(A) 7 cm (B) 6 cm (C)8cm (D) 9 cm

&fleusild epeurilest 2 wirih mmid uriiy WenGw 12 Q& wHmid 102 &G HmId

QenewTLS S5 eeTler Bemd 8Gl& ererfled LOHGMT(, LSSSSeT BTl

(A) 7 cm (B) 6 cm (C)8cm (D)9
cm

The diameter of the bicycle wheel is 63 cm, then the distance covered for twenty revolution
is
(A) 39.6 m (B) 36.9 m (C) 39.6 cm (D) 36.9 cm
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24,

Wdleusmig erdlar s&argdlear all L 63 QL safled @\mug) SYNSSERSHE SL&EGL ST
(A) 39.6 m (B) 36.9 m (C) 39.6 cm (D) 36.9 cm

The diameter of the circular table top is 28m, the cost of polishing the table top at the rate
of Rs.3 per m?is

(A) Rs.1348 (B) Rs.1848 (C)Rs.1343 (D) Rs. 1440

UL suigalleomeor Guoemaullesr Gupu@dlufler el b 28 1, gigemer &F.08@ en3 aizn GmGshn
QaaalLliu@ Qsrms

(A) Rs.1348 (B) Rs.1848 (C)Rs.1343 (D) Rs. 1440

The length of the building is 20 m and breadth 10m. A pathway of width 1m is made all
around the building, then the area of the path is

(A) 16 m? (B) 48 m? (C) 64 m? (D) 70 m?

Q@6 SLligL Sdler Bord LHmId gisomissT wamnGw 20 U wnmid 10 . syl S5hE QeuaflGu 1
1§ giseuld Qaremi(h) sHmILTmE JemwssiuOSIng) seafls snmiliurengulles LTl

(A) 16 m? (B) 48 m? (C) 64 m? (D) 70 m?

The surface areas of two spheres are in the ratio 9 : 25, then the ratio of their volumes is
A.81:625 B. 729 : 15625 C.27:75 D.27:125
@irew® GCamermsefler ausmsTaurlisafler ellflgn 9:25 erefled geummlent seur 9jemesafler
alldlsin

A. 81:625 B. 729 : 15625 C.27:75 D.27:125

The surface area of a sphere is 36 cm? then its volume is (in cm®)

A. 12 B. 36 C.72n d. 108n

@ Carergdlar eusmeruriiy 36n &.0&8 eefled giFeT Her ey (QFLI360)

A. 127 B. 36 C.72n d. 108xn

The heights and radii of two cylinders are in the ratio 1 :2 and 2 : 1 then their ratio of their
volume is

A 4:1 B.1:4 C.2:1 D.1:2

Qe o penersatler o wWrmsaT (WammGW 1 : 2 LHmID Yeunler gy rmisaT (PammGw 2 : 1
steorm ellflgmisafled @miller geumdler ser gereysefiler allélsin

A4:1 B.1:4 cC.2:1 D.1:2

For Noon meal, Food is kept in 3 cylindrical vessel of radius 70 cm and height 56 cm. How
many students can be served if the food is served with a hemispherical bowl of radius 14
cm

A. 250 B. 225 C. 345 D. 450

gl o amalnamsr 2 saimsrg 70 Gl gy 56 Q& 2 wWrh ClsTemiL epeTn 2 HmerT
g alleureor SeetTsafls) 2 ararg. 2 smrallemer 14 Glaul gyTib ClsTemi_ gmr&GaTaT Sy
RETMIEITITED LOMEUUTELT S5 (6THEHE) AUPBIGLD CLITE) TSSEMEUT LOMEUITELIT S (EHE:E) 2 6uTe| QLIS @ULISYILD

A. 250 B. 225 C. 345 D. 450

A lead sphere of diameter 4 cm is recast into a cone of radius 2 cm, then the height of the
cone formedis A. 8cm B.4cm C.3cm D.2
cm

4 Qa1ff eIl L (pemLw FLSGTLTaTgl 2 hasIu 6 2 Q& gurh QememL g. bums
rHniuBSng) eeflsd 2 HauT@h & bifler 2wy A. 8cm B.4cm C.3

cm D.2cm
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26.
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28.

29.

30.

If two cubes of dimension 2cm x 2 cm x 2cm are placed one after another, then the shape
and dimension fo the formed figure is

A. Cube, 4cm x4cm X 4cm B. cuboid, 4cmx2cm X 2cm

C. cuboid, 2cm x4 cm x4 cm D. cube, 4 cm x 2 cm x 2cm

2cm X 2 cm X 2cm SjerelaTer @\ SarEFFGITEISeT eermer LleTeeTmrds GamLjfwurs
eUSSLILELGLTS 2 HEUTEGL 2 (Held MHnId S6r I|are 6T

A. saT&gITD 4cm x4cm X 4cm B. sar@aaieusd , 4 cm x 2 cm X 2 cm

C. sarblgslousnd, 2 cm X 4 cm X 4 cm D. serggirin, 4 cm X 2 cm X 2cm

A rectangular field is half wide as its length. IF the perimeter of the field is p then the area
2 2

of the field interms of pis A P B. 2p? c. 2
4 18

2

D. 2p

3

(5 CFeleuds auwedlar oS Berddled urdwm@, Guain auwedlsT snhmerey p ereflsd auwedlsT
uyly
2 2

L p. 2P

18 3
If the perimeter of a triangle is 60 m, if the sides are in the ratio 3 : 4 : 5 thent he length of
the each side is (in m)
A. 15,20, 25 B.9,12,15 C. 16, 21, 23 D. 14, 19, 27
R WsCaTamsdlar snmere) 60 U MHmId gyaumniler usskigsr 3 4 : 5 searm eldlgsso
2 giemenr sTeotlsd Qeummlent LSS jeTeysaT (LpemmGw (L L flsd)
A. 15,20, 25 B.9,12, 15 C. 16, 21, 23 D. 14, 19, 27

2

pullsr A % B. 2p? C

Curved surface area of solid sphere is 24 cm2. If the sphere is divided into two
hemispheres, then the total surface area of one of the hemispheres is

A. 12 cm? B 8 cm® C 16 cm? D 18 cm?
R SlarwsCamagdlear yniuriy 24 Qeu?. Garerwrarg @@ orsCasTammiseTs
UflsasiubSimg) srafled m mrstarergdlar GumgasiLmiy

A. 12 cm® B 8 cm® C 16 cm? D 18 cm?

Two right circular cones have equal radii. If their slant heights are in the ratio 4 : 3, then
their respective curved surface areas are in the ratio

A.16:9 B8:6 C. 4:3 D3:4

@\ Cria L && sar g0 g rSmslGUDmiaTeTar geundler smuymiseT 4 : 3 earm Ssails
o eerer eTeufled Qjeummlert usmeTLTLILS6TleT S&6]

A.16:9 B8:6 C. 4:3 D3:4

The perimeter of a sector whose radius and central angle are 18 cm and 210°m
respectively is

A. 102 cm B. 66 cm C. 86 cm D. 48 cm
soLow&Gameonid 210° wmmih gy 18 Q&f QememiL e L CammriLgdluleT snmerey
A. 102 cm B. 66 cm C. 86 cm D. 48 cm



ANSWERS
1@ 2(d) 3(0) 4c) 5(d) 6(c) 7(c)8(b) 9d) 10(a)
11(c) 12 (c)  13(b)l4(d) 15(b) 16(d) 17(a) 18(b) 19(c) 20(d)
21(b) 22(c) 23(d) 24(a) 25(b) 26(c) 27(2) 28(d) 29(c) 30(a)



